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Aufgabe 1
Bestimme die Teiler von...
a) Tho = {1,2,11,22} b) Tog = {1,29} c) Tyg = {1,2,23,46}
d) Tho = {1,2,3,5,6,10,15,30} ~ o) Tas = {1,2,10,38}
f) Tys = {1,2,3,4,6,8,12,16,24,48 g) Ths = {1,23}
h) Tyo = {1,7,49} i) Tyo = {1,2,4,5,8,10,20,40}
i) Toe = {1,2,13,26}
Aufgabe 2
Bestimme die Teiler von...
a) Tos = {1,73}  b) Ts7 = {1,3,19,57}
c) Tog = {1,2,3,4,6,8,12,16,24,32,48,96 } d) To7 = {1,97}
o) Tas = {1,5,17.85} ) Tsy = {1,2,3,6,9,18,27,54}
g) T53 = 11,53} h) T75 = {1,3,5,15,25,75} i) Tog = {1,2,13,26}
i) Tog = {1,2,4,7,14,28}

Aufgabe 3

Bestimme die Teiler von...

a) Thg = {1,2,4,5,10,20} b) Ty = {1,3,9} c) Ti9 ={1,2,3,4,6,12}
d) Ty = {1,11} e) Ty = {1,17} f) T15 = {1,3,5,15}

g) 76 = {1,2,3,6} h) Thg = {1,19} i) Ty = {1,2,4}

i) Ths = {1,13}

Aufgabe 4

Bestimme die Teiler von...

2) Too = {1,2,4,5,10,20} 1) Ty = {1,2,3,4,6,9,12,18,36

c) Tho = {1,2,11,22} d) T35 = {1,5,7,35} e) T11 = {1,11}

f)Tis = 11.2.3.4,68,12,16,2448) ) Ty = {1,23}

h) T390 = {1,2,4,8,16,32} i) Tog = {1,2,4,

Viel Erfolg!
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71428} j) Thg = {120}
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